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, UANTITATIVE TECHNI UES |
) ]A"Tlme Three Hours L Lo o Max1mum 50 Marks :
‘ ‘SECTIO'N'-AY (5 Marks)f |
 Answer ALL questions - P
o - ALL questions carry- EQUAL marks - (5x1=3)
o aThe mean?and vanance of Pmsson dxstr1but1on is REE
(i) Different . - (ii) Same
\ - (iii) Posmvely skewed ‘ f (1v) Skewed
o Standard error of standard dev1at10n NI
| o= R
@ R ) —‘1
e 'The 4 test of ..... veee.odsan exten}smn of the chl-square test of mdependenee
“ (i) Goodness of ﬁr I (u) Heterogeneous
(111) Homogenelty o (iv) Dependence
The sign test: based on ...... dlstrtbutlon
- () Bipomial = - (ii) Poisson
o (iii) Geometrlc . R (@) Negatlve Bmomxal
= Purpose of MODI method in Transportatlon problems is to get - .
(i) Degenerate solutlon (if) Non -Degenerate solution

(111) Feasible - . S (1v) Opt1mum v

SECTION B 15 Marks
. Answer ALL Questions . '
ALL Questxons Carry EQUAL Marks (5 x3= 15)

L Two ladres wre asked to rank 7 dlfferent types of hpstxcks The ranks given by
. them are as follows . o .

| fLip ticks|]A |B |[C|D |E|F |G
Meena |2 |1 (43 [517 |6
Lakshmi f1f 312 14 ‘51- 6 7.

L Calculate the spearman s rank correlatlon coefﬁclent
- OR
. Lxst out the propertxes of Normal dlstrlbutlon

L Before an increase an mcrease in excise duty on tea, 800 persons out of a sample
- of'l 000 persons were found to be tea drinkers. ‘After an increasée in duty, 800 .

. people were tea drinkers in a sample of 1,200 people. Using standard error of

o proportlon state whether there is a significant decrease in the. consumptlon of tea

after the 1ncrease in exemse duty? . o : .

. OR-. .
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b Two types of drugs weére used on 5 and 7 patlents for reducmg thelr welght ‘Drug A
- was imported and drug B mdrgenous The decrease in the werght after usmg the
drugs for six months was as follows . :
- DrugA 10 12 13 11 14 .
DrugB :8' 9 12 14 15 10 9 :
~Is there a significant difference in the efﬁcacy of the two drug? If not whlch the L
 drug should you buy? » | , | ,

' -~8 a From the table given below whether the colour of son’s eyes is assomated with that

of father s eyes

. Eye colour in sons

. Not nght Light
Eye colour | “Not | 1

- | in fathers - Lrght 230‘_ | 148
o ‘ nght ' 151 471 |

OR =~

bIna test glven to two groups of students drawn from two normal populatlons the
o marks obtained were obtained as follows. ~ S
GroupA‘ - :18 200 36 50 - 49 36 34 49 41
GroupB-  :29 28 .26 35 30 44 46 . .
Examlne at 5% level, whether the two populatlon have the same variance, =

9 a The nicotine contents of two brands of 01garettes measured in rnrlhgrams was found
to be as follows

"Brand A: 2.1 4.0 '6.3 5_.4 48 37 61 33 Co
‘BrandB: 41 06 3.1 25 40 62 1.6 22 19 - 54

Test the hiypothesis at the 0,05 level of significance that the average nicotine -

contents of the two brands are equal against the alternatlve that they are unequal

- OR . .

b F1t a strarght line trend to the following data using method of least squares :
- Year | 1989 1990 11991 [1992 ]1993 . [1994 [1995 |
Sales 672 824 968 11205 1464 : 17 58 2058

o _.' 10 a Obtain the 1n1t1a1 (startlng) solutlon for the followmg transportatlon problem by R

‘ Vogel’s Ag proxrmatlon method

~ Destination 3
‘I _|A B |C |Supply
112 (7 (4.5
4 20303 T s
{Source " [3]5 (4 [7 |7
_ l4T1Te [2 |14
Demand‘“ 719 118 34 ’
' OR

" e b Solve the followmg Linear Programmmg problem by Graphlcal method.

- minimize z = 20x 1 +40x,

. o ~ 36x, +6x, 2108,

T 3x+12x, 236,
L 20m+10x,2100

C‘and x;, %, 20

' Cortt.;,' s
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SECTION -C (30 Marks) . -
‘ 'Answer ALL questions S T
ALL questlons carry EQUAL Marks _‘ (5_x"6 =30) o

ll a Flnd the cotrelation coefﬁctent from the followmg data e
o X 65 66 67 67 68 69 70 T2
67 68 65 - 68 7272 69 11
b Fou:r coins are tossed srmultaneously ‘What i 1s the probabrhty of gettmg (a) 2 heads
~ and two tarls (b) at least two heads (c) at least one head ' - ,

12 a Randorn samples of 400 men and 600 women were asked Whether they Would llke ‘

" to have a flyover near their residence. 200 mean and 325 women were in favour of -

~ the proposal. Test the hypothe51s that proportions of men: and women m favour of
L the proposal are same agarnst that they are not, at 5% level ‘

b 'The means of two s1ngle large samples of 1,000 and 2 000 members are 67 5

"+ ‘inches and 68.0 inches respectlvely Can the samples be regarded as drawn from

:' the same populatlon of standard devratlon 2.5 mches‘7 ' : v

. 13a A die was thrown 498 times. Denotmg x to be the number of appearmg on the top R

, ‘face 1t the observed frequency of xrs glven below o

11712 3145161
L6978 [85] 82 | 86 | 98

3 What oplmon you would form for the accuracy for the d1e‘7

. " OR .. : ,

b Three drfferent machines are used for productlon ,on the basxs of the outputs setup
-_One Way ANOVA table and test whether the machmes are equally effecttve R

i
. Diet:163 101 107 135 149 118 143 102 120

o :'DietII 213 238 154 196

| "MACHINES R
R MACHINEI MACHINE 1T MACHINEIII o
=10 9 | 200
15 7 .| 16
11 5 - 10
- 10 6 14

| Grven that the value of F at 5% level of s1gn1ﬁcance for (2 9) d f 1s 4 26

The followmg are the werght gams (m pounds) of two random samples of young o "
-Indians fed on two different diets but otherwise kept under rdentlcal conditions: .
14 7 23, 6

151 145 184 132 140 . .
12.0 139 '188 192
© 189 207 21.1° 158 162 ~

" 'Use U test at 0 Ol level of significance to test to the null hypothesrs that the two

i populatxon samples are identical against the alternative hypothesrs that on the

. vaverage the second d1et produces a greater gain in werght ,

b A company ] tralnees are randomly assrgned to groups whrch are taught a certam —

OR . .

‘industrial inspection procedure by three different methods: At the end of the S
1nstruet1ng period they are tested for rnspectlon performance quahty The S
followmg are their scores.. . S

MethodA 180, 83 79, 85 90, 68 .
MethodB 1 82, 84, 60, 72, 86, 67, 91
Method C : 93, 65,77, 78, 88

Use the H test to determme at the 0.05 level of sxgmﬁcance whether the three v, "

e methods areequallyeffectlve R S T

R ‘Cont.;i‘.

153 201 ,'1'4'.8"."*
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715 a .Use.simpl_ex method to solve the LPP o
R ‘Maximz'seZ$5'x,’A-|-.8x2 S : B T
* Subject to - 2x+x,<50 | | “
o 2x, +5x, <100 |
. . 2% 43x,<90 and X%, 20
o -~ .~ OR . S S
- b The processing time in hours for the jobs when allocated to the different machines
. are indicated below. Assign the machines for the jobs so that the total processing -
-time is minimum. a L . o -

Machines R
, M [ M M3 [ M, [ M. -
o I 9 221587111 (19
Jobs 17, 143 [78 [72 150 [63
J3 141 128 |91 [37 |45
tds |74 142127129 (39|
Js 136111 157 [22 125 |

Z-Z-7. END



